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3.2 00U

0000 000000000000 40000t 000000000 var ¢ = t1; to OO0
oogd
var x = t1; to = (Azx.t2)

3.3 Church Boolean

true = Ax.\y.x
false = Ax.Ay.y
if ¢1 then to else i3 — (tl tg) t3



3.4 Pairing

pair t; to = Ax.x t to
fst = Ap.p (Af.As.f)
snd = Ap.p (Af.)As.s)

3.5 Church O

0 = As.Az.z
n = As.\z.s (s (- s(z)--))
————
plus = JAn.Am.As.Az.n s (m s z)
times = An.Am.As.\z.n (m s) z
3.6 J0OODOOOO
omega wf (Ax.x %) (Ax.x x)
fix 2 M. ((Ax.f (x x)) (Ax.f (x x)))
fixv 2 Af((Ox.f (y.(x 1) 7)) Ox.£ Oy.(x %) 7))

flz)=e (0 e00 f000)00000000 fix (Mf.Ax.e)0000000



